Micro ONE ToucH METRIEG
PLastTic PusH-IN FITT

PART NO D1 R A B c H 20,
PC03-M3C 3 M3x0.5 3 15 9.7 8 ( 3 -
PC03-M5C 3 M5x0.8 | 3.5 15 9.7 8
PC03-M6C 3 M6x1 45 16 9.7 8 H
PCO4-M3C | 4 | M305 [ 3 17 11.7 8 p [ °l .
PC04-M5C 4 M5x0.8 3.5 17.5 11.7 8 N
PCO4-M6C 4 M6x1 45 18 11.7 8 A
PC06-M5C 6 M5x0.8 | 3.5 21.3 13.5 10 <
PC06-M6BC 6 M6x1 45 21.3 13.5 10 ! \ !
\L
oP
2D
|
PART NO D1 R A B c H ‘
PC04-01C 4 R1/8 7.5 17 11.7 10 fffi
PC06-01C 6 R1/8 7.5 20.7 13.5 10 | | o
o | |
L L J
i R N
oP
PART NO D [ R A B c H1 H2 o0
PC04-GO1C 4 9.5 G1/8 5 15 11.7 10 2.5 ‘ T
PC06-GO1C 6 10.7 G1/8 5 17 13.5 10 4
HI Ll
O | o
.
<
v
oP
PART NO D R P A B c P
POC03-M3C 3 M3x0.5 8 3 15 9.7
POCO3-M5C 3 M5x0.8 8 35 15 9.7 : | |
POC03-M6C 3 M6x1 8 45 16 9.7 @'
POC04-M3C 4 M3x0.5 8 3 17 11.7
POCO4-M5C 4 M5x0.8 8 3.5 17.5 11.7 | |
[©)
POC04-M6C 4 M6x1 8 45 17.5 11.7 ® o
POCO6-M5C 6 M5x0.8 | 10.5 35 19.8 13.5 L]
POCO6-M6C 6 M6x1 10.5 45 19.8 13.5
L]
<t
|
T

KELMZ4

g Enhanced Quality Performance

y www.kelm-uk.com


https://www.hoses.co.uk/

PART NO
POC04-01C
POC06-01C . [ I ]

PP
PART NO D P R A B c H o0
POC04-GO1C 4 12 G1/8 5 15 11.7 2.5 T 7‘
POC06-GO1C 6 12 G1/8 5 17 13.5 4
o K
| [aa]
.
<C
il
)
PART NO D R P A B c H I<—>I
PCF03-M3C 3 M3x0.5 7 45 15.7 9.7 8 -
PCF03-M5C 3 M5x0.8 7 5 16.2 9.7 8
PCF03-M6C 3 M6x1 7 6 17.2 9.7 8 H
PCF04-M3C 4 M3x0.5 8 4.5 18.2 11.7 8 h [ [ © o
PCFO4-M5C 4 M5x0.8 8 5 18.7 11.7 8 e
PCF04-M6C 4 M6x1 8 6 19.7 11.7 8 A
PCF06-M5C 6 M5x0.8 10 5 20.2 13.5 10 <
PCF06-M6C 6 M6x1 10 6 21.2 13.5 10 ) \ )
\r
oP
oD
PART NO D1 R A B [4 H G |
PCF04-01C 4 R1/8 8 9 22..7 11.7 12 (&.::‘5\
POC06-01C 6 R1/8 10 9 22.7 13.5 12 | |
| | °
o | |
L1 J
i R e
oP
PART NO D R P A B c H G
PCF04-GO1C 4 G1/8 9.5 7 22.5 11.7 12 8.5 2L,
PCFO6-GO1C 6 G1/8 10.7 7 22.3 13.5 12 8

s B Enhanced Quality Performance

www.kelm-uk.com


https://www.hoses.co.uk/

PART NO D P H
PLO3-M3C 3 M3x0.5 7 3 14.5 12.2 8
PLO3-M5C 3 M5x0.8 7 35 15 12.8 8
PLO3-M6C 3 M6x1 7 4.5 16 12.8 8
PLO4-M3C 4 M3x0.5 8.5 3 12.5 15.7 8
PLO4-M5C 4 M5x0.8 8.5 3.5 13 15.7 8
PLO4-M6C 4 M6x1L 8.5 45 14 15.7 8
N PLO6-M3C 6 M3x0.5 | 10.5 3 17 16.7 10
| PLO6-M5C 6 M5x0.8 | 10.5 3.5 18 16.7 10
PLO6-M6C 6 M6x1L 10.5 4.5 19 16.7 10
PART NO D R P A B c H
PLO4-01C 4 R1/8 8.5 7.5 16.5 15.7 10
PLO6-01C 6 R1/8 10.5 7.5 18.5 16.7 10
PART NO D P R A B c E H
PLO4-GO1C 4 9.5 G1/8 5 14.5 11.7 15.7 10
PLO6-GO1C 6 10.7 G1/8 5 18.5 13.5 16.7 10
PART NO D R P A B [ E H
PLLO3-M3C 3 M3x0.5 7 3 19.5 9.7 12.8 8
PLLO3-M5C 3 M5x0.8 7 3.5 20 9.7 12.8 8
PLLO3-M6C 3 M6x1L 7 45 21 9.7 12.8 8
PLLO4-M3C 4 M3x0.5 8.5 3 24 11.7 15.7 8
PLLO4-M5C 4 M5x0.8 8.5 3.5 24.5 11.7 15.7 8
PLLO4-M6C 4 M6x1 8.5 4.5 25.5 11.7 15.7 8
PLLO6-M3C 6 M3x0.5 | 10.5 3 28 13.5 16.7 10
PLLO6-M5C 6 M5x0.8 | 10.5 3.5 28.5 13.5 16.7 10
PLLO6-M6C 6 M6x1L 10.5 45 29.5 13.5 16.7 10
PART NO D R P A B c E H
PLLO4-01C 4 R1/8 8.5 7.5 27.5 11.7 15.7 10
PLLO6-01C 6 R1/8 10.5 75 30 13.5 16.7 10
PART NO D P R A B c E H
PLLO4-GO1C 4 9.5 G1/8 5 25.5 11.7 15.7 10
PLLO6-GO1C 6 10.7 G1/8 5 29.5 13.5 16.7 10

Ll
i
[ ]

e

.
[ S

T

‘I‘

S

|
j====
20
P
¢ =
T E - ,i?a
[N p— -
. e i
~T 1)
| ﬂu
E
¢ =
J- e
N .
Ll
I H

KELM

Enhanced Quality Performance

www.kelm-uk.com


https://www.hoses.co.uk/

Male Tees

PART NO D P H f= 7]
PT03-M3C 3 M3x0.5 7 3 14.5 9.7 11.6 8 t‘ i‘
PT03-M5C 3 M5x0.8 7 35 15 9.7 11.6 8 .l
PTO3-M6C 3 M6x1 7 4.5 16 9.7 11.6 8 L ST
PT04-M3C 4 M3x0.5 | 8.5 3 15.7 11.7 13.8 8 . g@ %
PT04-M5C 4 M5x0.8 | 8.5 3.5 16.2 11.7 13.8 8 il
PT04-M6C 4 M6x1 8.5 4.5 16.7 11.7 13.8 8
N PT06-M3C 6 M3x0.5 | 10.5 3 20.2 13.5 17.5 10 ® \H
| pros-msC 6 M5x0.8 | 10.5 3.5 21.2 13.5 17.5 10 «
PTO6-M6C 6 M6x1 10.5 45 22.2 13.5 17.5 10 R
£
PART NO D R P A B c H = 7]
et
PT04-01C 4 R1/8 8.5 7.5 19.2 11.7 13.8 —
PT06-01C 6 R1/8 10.5 7.5 21.7 13.5 17.5 o O
| | 7
m — H
T
L Sy
" Nt
<T
\R
e
PART NO D R P A B [ E F H e )
PT04-GO1C 4 G1/8 10 5.5 25.2 15.5 17.5 8 12 BE
PT06-GO1C 6 G1/8 12.8 5.5 26.5 15.6 19.5 8 12 o © Ll
| | ml
- — r  _ _|H I\
,7 — 11 g\‘/ &
m
NHo
<T
\R

KELMZ4

el Enhanced Quality Performance

www.kelm-uk.com


https://www.hoses.co.uk/

Equal Connectors | .
PART NO &
PUCO3C
PUCO4C N (R T
PUCO6C Al ﬂo‘ o
_ J e = ®
L \
A
PART NO D P C E F =5 ~
PULO3C 3 6 8 11 4 |
PULO4C 4 10 15.5 17.5 8
PULO6C 6 12.8 15.6 20.5 9.5 m
- I I !
0 A
T T
( 1
|-20_|
oP
PART NO D P C E F
PUTO3C 3 6 10 15 4
PUTO4C 4 10 15.5 17.5 8
PUTO6C 6 12.8 15.6 20 9.5
PART NO D P B C E F
PYO4C 4 10 34 15.5 10.5 15
PYO6C 6 12.8 36.5 15.6 13 15.5
3—-0oP
PART NO D P B C H M ]
A
PMMO3C 3 6 20.5 10 11 M10X1 -
PMMO04C 4 10 33.5 16 14 M12X1
PMMO6C 6 12.8 34.5 17 17 M14X1
- A
] T S| ¢
RN ) - — \
Y
H /ﬁi \ v
PART NO D P B C1 Cc2 E H1 H2 M B
A
PLMO3C 3 6 21 8 10 12 11 13 10X1 -
PLMO4C 4 10 36 15.5 16 17.5 14 14 12X1
PLMO6C 6 12.8 40 15.6 17 20.5 17 17 14X1

\
\
|
L]
|
I
@D
op

KELM14

g Enhanced Quality Performance

y www.kelm-uk.com


https://www.hoses.co.uk/

@

PART NO D R P A B C E H K
NSEO03-M3C 3 M3x0.5 6 3 9 10 15 8 10
NSEO03-M5C 3 M5x0.8 6 4 9 10 15 8 10
NSEO03-M6C 3 M6x1 6 5 9 10 15 8 10
NSE04-M3C 4 M3x0.5 10 3 9 15.5 19.7 8 10
NSE04-M5C 4 M5x0.8 10 4 9 15.5 19.7 8 10
NSE04-M6C 4 M6x1 10 5 9 15.5 19.7 8 10
NSEO06-M5C 6 M5x0.8 12.8 4 9 15.6 22.5 8 10
NSEO06-MGC 6 M6x1 12.8 5 9 15.6 22.5 8 10

610.1
08

=

2.7
i}

18.7

15.25

KELM

Enhanced Quality Performance

BTM

www.kelm-uk.com


https://www.hoses.co.uk/

